N = 0 &8 AF S & Al A
2000 &= =20l & LEgH|
SA: =AD
B =40 A Ysl
CHPl: XIOHAIEIS SRS SAHAIY (el @)
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
= Ao 3,136,097 2,619,699 516,398
= 170,656
g 140,000
J| 288,604
= 175,226
Al 2,361,611
SR g S == A= 3,081,562 2,565,779 515,783
= 170,656
g 140,000
J| 288,604
= 175,226
Al 2,307,076
X ASHR HelE 4 A 1,197,300 556,613 640,687
X etatst MAaRAZ K& 66,000 50,000 16,000
301 L8 AMZ 66,000 50,000 16,000
12 JIEIEAZ 66,000 50,000 16,000
OIS (A1+H,.B1H) =62 N
200,000& x1005 20,000
O3 (A+,BIH)Eot&HAZ2 N
100, 000& 2005 20,000
OSO0tXAl ChatEed =2 X 200,000& x1305 26,000
XIASHR Al B 235 355,550 311,300 44,250
202 O] 3,600 3,600 0
01 Z2UWdH 3,600 3,600 0
OXIQAAES SUESHAY XX
20,000& 1803 3,600
206 MZ=Hl 39,000 36,000 3,000
01 THEHI 39,000 36,000 3,000
O OFJHEHUI(D1E S0HKY) =AY 23
5,000& *3,0005 15,000
OBOXRE S L AtFE Y
12,000& *2,0005 24,000
307 QIZ2to| A 56,700 56,700 0
08 OlxX=E2N&Z2 56,700 56,700 0
OXItLHEre Al X
2,100,000,000& *0.027 56,700
402 QI2EX 20| H 256,250 215,000 41,250




2A: S
. 46 FWH LG

ol XYABHD SRHE S ALY (Ero: & 8)
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
01 QUAR=2EX 256,250 215,000 41,250
Otl JtE=s At &X
24,000, 000 *20J1 2 *50/100 240,000
O 2HI(2HE) &3
65,0002 *5007H *50/ 100 16,250
Xetatete SEHE 150,750 40,000 110,750
301 ptEas 150,750 40,000 110,750
12 JIEt2 43 150,750 40,000 110,750
OIt=HESE 10,000& *4,0005 50/ 100 20,000
O8te SAL BAXA
60,0002 *5005 x50/ 100 15,000
OFME SHIISH(AAN) MAXI
100,000& *1,0005 100,000
Ox Wit=EsII M35
9,000& *3,500AMI Ex50/100 15,750
Xetatste Bgie 28 2 H0sIH JIsl=s 265,000 60,000 205,000
201 BH2IH] 40,000 20,000 20,000
01 AtR2teldl 40,000 20,000 20,000
O1 ZEt==24] 40,000
> Xletah st BHE sS4 88
40,000,000 *14] 40,000
301 YEtEa= 10,000 10,000 0
10 dAIAMHIEAZ 10,000 10,000 0
OB#E B0is)t J2DR
5,000,000& *23| 10,000
307 QI2t0IA 75,000 15,000 60,000
02 QtFAE X 75,000 15,000 60,000

3,0002 *20,000kg 60,000
=IIEEED
30,000, 0008 *50/100 15,000
140,000 15,000 125,000
140,000 15,000 125,000
DHQiA Zol2tE
3,000,000 *57H & 15,000
(sgg)
50,000, 0002 ¥50/ 100 25,000
OXIotph H& =X
100,000, 0002 14 A 100,000




2A: S
. 46 FWH LG

Ciol: XIOfAEIS SUC S A (el @)
SH-EH . O3 - MBAY - BAS 0fl AF 08 Soe HRZ2
At A & AHIXI& 360,000 0 360,000

402 QIZ2EX =0l 360,000 0 360,000
01 QIZX=2EX 360,000 0 360,000

OREN 28 IAME Mo ZHIXA(EE
[—
—_

Al SHAHALS) 50,000, 000& *10JH 260/ 100 300,000

Os44 A0 (S200]) +8 Z|
o
2 El

) 10,000, 000& *10CH*60/100 60,000

Z A0 BYOHE 969,316 1,027,193 N57,877
2 140,000
p] 236,677
[ 108,661
Al 483,978
ZAsIF AISDIE 1S 84,600 47,200 37,400
202 OfHl 3,600 3,500 100
01 =00l 3,600 3,500 100
OS4hsI ZYE 2 AISIIE NE
20,0002 * 1803 3,600
402 QIZIRHEO|H 81,000 43,700 37,300
R EEES 81,000 43,700 37,300
OEZY HE=2a(LS) XN
20,0002 *300 4| € +60/100 3,600

OgEEsEAENANMNI
150,000, 0002 * 17 2~ *50/100 75,000

OESE ZIM XA

1,000 400074 %60/ 100 2,400

YSHD XA 42,336 40,824 1,512
307 QI2tolA 42,336 40,824 1,512
02 QIAAMEE 42,336 40,824 1,512

OY=ER0IX 67,200, 0008 *63/100 42,336

LASMBOIYET HAEA 11,000 7,950 3,050
201 et 3,000 0 3,000
01 Ar222lt] 3,000 0 3,000

1,000, 0002 * 174 A 1,000
ORFASBHASE HE L 7
2,000,0002! +14} 2,000

301 etEd= 8,000 7,950 50




2A: S
|

v
@R SeksIt ZZ S (Ste-&3)
S . M. GOl (5 NS A . A2 A} OH &EIE H D=2+
10 SHAIABIEAZ 8,000 7,950 50
OFW=IH L TAl AHIA =8 Xz
600, 000& *5CH 3,000
O&F W=t (bl 100, 000& *400! 4,000
OsEs & 228 =3 500,000& *23| 1,000
SMEO0 S0 NFEAS BA 2,000 4,000 A2,000
301 etEa3 2,000 4,000 A2,000
10 SHAIAHIBAZ 2,000 4,000 22,000
OoY=sIt Jlzns 50,0003 *40021 13| 2,000
SNRRSH 282,068 291,600 A9,532
| 197,447
& 25,386
Al 59,235
301 etEa3 282,068 291,600 A9,532
| 197,447
= 25,386
Al 59,235
12 JIEt2A&= 282,068 291,600 A9,532
O 2% 24 3,419 x330& 250 282,068
J| 197,447
& 25,386
Al 59,235
SNMSEXNE X 5,600 11,200 25,600
J| 3,200
& 720
Al 1,680
301 LetEa3a 5,600 11,200 A5,600
| 3,200
& 720
Al 1,680
12 JIEtE&=3 5,600 11,200 25,600
O=s4 ST I& 5,600,000& *1JH &~ 5,600
J| 3,200
& 720
Al 1,680
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chel:
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J2

20
B
2

H

Al

19,400
5,820
13,580

11,120

H

Al

19,400
5,820
13,580

8,280

20,000 *1,9405*50/100

i

Al

19,400

19,400
5,820
13,580

11,120

8,280

H

Al

31,250
9,375
21,875

24,204

7,046

H

Al

31,250
9,375
21,875

24,204

7,046

Q) PYEES N

25,510& *2,4505*50/100

i

Al

31,250

31,250
9,375
21,875

24,204

7,046

H

Al

21,762
6,529
15,233

28,620

N6,858

H

Al

21,762
6,529
15,233

28,620

A6,858

DN

109, 355% »398 Ml E+50/100

i

Al

21,762

21,762
6,529
15,233

28,620

A6,858

H

Al

17,700
5,310
12,390

13,320

4,380

17,700

13,320

4,380




2A: S
|

B B4 AWM Ysl
CHol: ZoHsOh HHOHH (SHol:®el)
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
301 dE8AZ T 5,310
Al 12,390
12 JIEIE A2 17,700 13,320 4,380
OHE DEN 1S3 LM
10,000& %3, 540kg*50/ 100 17,700
== 5,310
Al 12,390
AL 2l X M EFEE K& 40,000 44,280 N4, 280
= 12,000
Al 28,000
402 QI2EX 20| 40,000 44,280 N4,280
= 12,000
Al 28,000
01 QI2tX=2Ex 40,000 44,280 N4,280
OBAIZRITI (220101) MEEY X2
80,000,000 =120 2 %50/ 100 40,000
o= 12,000
Al 28,000
SAENSYR 90,000 40,000 50,000
rag 35,000
== 16,500
Al 38,500
207 AR INEHI 90,000 40,000 50,000
g 35,000
= 16,500
Al 38,500
03 A& AHRHI 90,000 40,000 50,000
Ox4t Z2 MY ¢35 50,000,0002! * 14! 50,000
rag 35,000
o= 4,500
Al 10,500
OSENHS XY= 40,000, 000& * 1A 40,000
= 12,000
Al 28,000
sHHZ S & 5,000 5,000 0
307 QI2tolA 5,000 5,000 0




2A: S
PSR =F e P =
o FSatsI Yoy (A&

CHH L ER(EA) - NRAY - BAS Aro e =2
QIAANE L 5,000 5,000 0
= 28 oY = 5,000,000& =14 5,000
EW 16,000 0 16,000

& 4,800
Al 11,200
BB A Z 16,000 0 16,000
& 4,800
Al 11,200
12 JIEIEH3 16,000 0 16,000
A 52 KXY
40, 000% *8005*50/100 16,000
= 4,800
Al 11,200
st Fgerd K& 22,500 0 22,500
Qo Az 22,500 0 22,500
12 JIEI2 &3 22,500 0 22,500
SR KIS ZUDS
15,000 & *3,0005*50/ 100 22,500
d SN (HXS5 B5) 168,000 0 168,000
s 105,000
Al 63,000
QI2tX =201 ™ 168,000 0 168,000
s 105,000
Al 63,000
QI tEE X 168,000 0 168,000
Fota 2= YESAIY(AXSE ER)
168,000, 000& *1JH & 168,000
s 105,000
Al 63,000
ZH Arel Xl ME 18,000 0 18,000
| 10,800
& 2,160
Al 5,040
RIZtXt=01 M 18,000 0 18,000
| 10,800
L= 2,160




2A: S
|

B B4 AWM Ysl
CHol: ZoHsOh HHOHH (SHol:®el)
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
402 QIZtXIE0| A Al 5,040
01 QI2X=2EX 18,000 0 18,000
OxXME I ML H=Hl X
1,200,000& *15ha 18,000
J| 10,800
= 2,160
Al 5,040
=TI A28 =ES A P2 L HIALBLIOLH 25,230 0 25,230
Dl 25,230
301 Et8A= 25,230 0 25,230
J| 25,230
12 JIEr2a3 25,230 0 25,230
O .FI H2&2 A 7 &L HEAD
LIOF Heldl 25,230,000 * 14! 25,230
J| 25,230
st EE AMEFR0X= 0l AF X & 66,870 0 66,870
= 20,061
Al 46,809
301 LBt A= 66,870 0 66,870
& 20,061
Al 46,809
12 JIEIE A2 66,870 0 66,870
OsJt Alg 20X 2 Ol KHAI
66,870,000 * 14! 66,870
= 20,061
Al 46,809
SAMEENA 123,265 320, 186 A 196,921
= 49,039
J| 2,000
== 17,168
Al 55,058
SMNEERS £ HES 20,000 15,000 5,000
= 10,000
= 3,000
Al 7,000
301 Let8A= 20,000 0 20,000




SA
X XH .
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chel:

M-8 SRI(310) - MRAY - BeS sl e HlRE2
301 YEtEa= = 10,000
& 3,000
Al 7,000
12 JIEt2A3 20,000 0 20,000
OFMEL Mel K& (Hyl&Zy])
20,000,000& » 14! 20,000
= 10,000
< 3,000
Al 7,000
SeEaHelAld 44,065 93,339 AN49,274
= 24,039
= 6,008
Al 14,018
402 2IHX=01M 44,065 93,339 N49,274
= 24,039
= 6,008
Al 14,018
01 QUARE2EX 44,065 93,339 N49,274
OBM2LHRNL NS (HSAL)
20,065,000 14! 20,065
= 12,039
< 2,408
Al 5,618
OFdEEH™elAd N (Y82 22401)
24,000,000 1 CH 24,000
= 12,000
< 3,600
Al 8,400
FZAAMASHAS 8,000 18,972 210,972
= 2,400
Al 5,600
301 Lptsasg 8,000 18,972 A~ 10,972
= 2,400
Al 5,600
12 JIEt2 43 8,000 18,972 A 10,972
O2AH=sI ==2XEH X&
100,000& *160& x50/ 100 8,000
= 2,400




SA
X XH .
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chel:

K- B3 S (3IH) - NEAY - Ba 2 Aol Soe HRZ2
Al 5,600
=2 HHIEHSAIY 19,200 11,325
= 5,760
Al 13,440
301 Let8Aa3 19,200 19,200
& 5,760
Al 13,440
12 JIEIE A2 19,200 19,200
OJ=EL Yl &43
9,600,000 *4E+50/100 19,200
T 5,760
Al 13,440
HE=stsHeEt gt 2,000 2,000
J| 2,000
307 QIZtOIA 2,000 2,000
| 2,000
02 QI2HEAAMNEX 2,000 2,000
OXtois8 59 245 (ALAYT)
2,000,000& *1JH &~ 2,000
J| 2,000
dENsEI=AH 30,000 30,000
= 15,000
Al 15,000
402 QIZtXIE0| A 30,000 30,000
= 15,000
Al 15,000
01 QI2X=2EX 30,000 30,000
OLFHMAHAE 30,000,000 = 1Al 30,000
2 15,000
Al 15,000
ctgtA ate| 23t 753,331 98, 130
= 121,617
J| 49,927
== 44,297
Al 537,490
CHEF S X H 2 3 270,690 19,722




SN BN
o SN Y Ys
ol RHErE e Bel 235 (St5: &8 2)
_ _ HE T
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
201 L2yl 40,852 29,250 11,600
01 AtR2elt] 10,700 14,200 3,500
O1 L8| 4,700
DIIEYS ADE U UIE
100,000 +87H £ 800
TN 300, 00024 #1355 3,900
06 Yxt2 6,000
DAXE WS 400,0002 153! 6,000
;2 Tz 30, 152 15,052 15, 100
01 3222 2 MAl 520
PRENLER 300, 00024 #1CH 300
DEANLRLS 100,0002 *1CH 100
DREXNBAME 60,0001 *23] 120
02 2| 22,500
beeitiy ¥ YweiAS)| g
1,80021¥500+252 22,500
O3 A& FEl 2| 4,000
PEALL)| U RPASI SN
200,000 *20CH 4,000
O4 Trgreety) 3,132
> X2 4,474,000%1 +1CH+70/100 3,132
206 WM& 32,200 29,400 2,800
01 =4l 32,200 29,400 2,800
OTHY TSYHME L YA 2YTE
3,000,0002! +13] 3,000
OLS%E B2
14,0002 +1,500% %0. 4kg38] 25,200
OMHEINE HE WY 200,000% * 153! 3,000
O 2242ty UM WM
1,000, 00024 *14} 1,000
01 YL 26,900 16,300 10,600
12 JEeas 26,900 16,300 0,600
OZSYHE +¢ 8002 *1,3005 *203| 20,800
OaE SXEFSR SaY|
7,00024 %1021 +203] 1,400
O&HE B4 ALY 20,0002 %1005 2,000




SA
X XH .
(=

chel:

_ _ HE T
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ol AF o8 HusZ
S EFEEE RN
30,0002+ 1591 +63] 2,700
302 OIFUMAHZAS 14,000 10,800 3,200
02 OIZHITHal 2 &2 14,000 10,800 3,200
O 3E SAH 24
7,00024 +10021 %202 14,000
307 21201 137,988 101,216 36,772
05 LIRISIE3 137,988 101,216 36,772
OJEL SHL 22X S|
41,30021%10801 202! 89,208
ORJIsE 25 2l 48,780,000 14! 48,780
402 RIZEXHEOIH 18,750 64,000 745,250
01 PIATEEE 18,750 64,000 45,250
OJEge DA ASI| N
2,500,002 * 157} 2 ¥50/ 100 18,750
IIEYATHE L Bao 2 29,440 23,740 5,700
206 &bl 3,200 2,600 600
01 Madl 3,200 2,600 600
ONYZZE FMI 7Y 802 +40, 00071 3,200
01 YBEHS 24,440 19,640 4,800
10 BAMHEAS 440 440 0
OZ+9| oftl 10,0002 %401 +13] 440
12 JIERAS 24,000 19,200 4,800
OZ#ol 44 500, 00021 #4901 %122 24,000
307 21201 1,800 1,500 300
06 23 1,800 1,500 300
OZ49 2 BN 2BE
300, 0002 +69! 1,800
A28EY ol 85,602 78,600 7,002
202 Ofl 3,600 3,600 0
01 =UHoTbl 3,600 3,600 0
OrmsaEHH YRR NE 20,000 *1803] 3,600
206 TEHl 82,002 75,000 7,002
EET 82,002 75,000 7,002
OSH(AI) =S (ND) E & &l
602 +400,0004: 24,000




S FAD

Za 20 Ame Y
CHol: Xpergoipial 23 (crol: & 2)
SN HB SR (BIH) - A - B S 0l &b S D=2
O Xl PED HYAE +& 8,000& *2, 0005 16,000
OUW, 28 JIMs M 4357
90, 000 *300H 27,000
OZ=E2E olgeal 29 8,100& *1,852H 15,002
SUAS=CAL B 19,464 9,768 9,696
301 ptEasg 19,464 9,768 9,696
09 BU2RRIABLS 19,464 9,768 9,696
Ogdasdd= 500,000& »221x12& 12,000
OAlIZtel =< 5,439% x201x25A| 2t x 12 3,264
(OESEIME=J0: )] 150,000& *2021 23| 600
OgHHRF=ANOLI 150, 000& #2021 % 12& 3,600
IHEEE2E 99,854 92,423 7,431
| 49,927
& 14,978
Al 34,949
206 TH=Hl 24,122 22,354 1,768
| 12,061
= 3,618
Al 8,443
01 MZHl 24,122 22,354 1,768
OL=%E 7Y 24,122,000 * 14 24,122
| 12,061
= 3,618
Al 8,443
301 LptEasg 75,732 70,069 5,663
Il 37,866
= 11,360
Al 26,506
12 JIEIEAZ 75,732 70,069 5,663
OZSYHE 2| 75,732,0002 14! 75,732
Il 37,866
< 11,360
Al 26,506
pIEgge 213,401 151,384 62,017
= 121,617




S ED .S (B0) - NRAY - BAS ok o S H| D=2t
0f & o8
DIE=Relge = 23,035
Al 68,749
206 M=l 132,301 103,539 28,762
= 91,287
T 12,304
Al 28,710
01 &l 132,301 103,539 28,762
OUg=A ¥ FHAS,
301,000& *14] 132,301
= 91,287
o= 12,304
Al 28,710
301 YotEaz 51,100 47,845 3,255
= 15,330
= 10,731
Al 25,039
12 JIEIEAZ 51,100 47,845 3,255
OEZ24der ME 28| 51,100,000 * 14! 51,100
= 15,330
& 10,731
Al 25,039
405 KHaHFSHI 30,000 0 30,000
= 15,000
Al 15,000
01 XA EFSHSHI 30,000 0 30,000
og4d Jls g +g 30,000, 000& = 1CH 30,000
= 15,000
Al 15,000
FMEESI ASUEXE 26,880 26,930 AB0
& 3,884
Al 22,996
206 M=l 26,880 26,930 AB0
& 3,884
Al 22,996
01 &l 26,880 26,930 A50
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A So
M =S4 ZJYY As
Oel: SisItdMEsy )
- _ - ez
SA-EFH - SA(SAH) - MREAY - BES &hoh Oll AF O &
stz s 17,000 0 17,000
= 5,100
Al 11,900
HAAANSAE S 17,000 0 17,000
= 5,100
Al 11,900
402 QI2HXGE01M 17,000 0 17,000
S 5,100
Al 11,900
01 BIZtA=2E=x 17,000 0 17,000
OXL AIRAIE U3
17,000, 000 *2JH 2~ *50/ 100 17,000
= 5,100
Al 11,900
HE2H I 54,535 53,920 615
ol (F4t) 32,083 31,568 515
olAR A (F 4D 32,083 31,568 515
101 1A 29,083 28,568 515
02 =g 29,083 28,568 515
OAZte 2824 7,457 1321 x300Al 2+ 29,083
203 HERF=4H 3,000 3,000 0
04 REA2ELRFAH 3,000 3,000 0
ORNM2E ZRF2 250,000& 123 3,000
Jl=2ZHI (=S4 22,452 22,352 100
Jl=2ZHI(F4) 22,452 22,352 100
201 LEHRHH| 8,292 7,920 372
01 At22ted 8,292 7,920 3r2
O1 LBt==2H| 7,200
PEA2E =S| 600,000& 123 7,200
O5 =&l 1,092
DOt . 522 e 7,000& x132! 12 1,092
202 044 14,160 11,332 2,828
01 =LHAHI 14,160 11,332 2,828
OJI=2gR==&0iH| 14,160,000 *14] 14,160




